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CHel: plurel ofarats) (e &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
01 AP 22| H| 1,900 1,900 0
O=01Z&0 I8t oY A} 1,900, 000& 14! 1,900
2 570
o= 399
= 931
0l HEAAL SESAIY 4,300 12,900 A 8,600
401 AlEHIZ 2 0HY| 4,300 12,900 A 8,600
01 Al& B 4,300 12,900 A 8,600
ORIEt HEALE B2AY 4,300
OAY A2 2,000,000 *1JH 2 2,000
OdBrAlAE MAX| 1,000, 000& x 14! 1,000
O&EI ZA 1,000,000 =104 &~ 1,000
O &X 300,000& 104 & 300
o AgtHAs2G 1,393,780 392,780 1,001,000
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= 763,780
oZ2AUUXA 1,293,780 292,780 1,001,000
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oA HEKX Al 5,000,000 *13] 5,000
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SA BB (SH) - NRAY - B Ol At o %E& HRE2
1T AIEHIZ 20| 100,000 100,000 0
== 30,000
= 70,000
01 Al&H| 100,000 100,000 0
oo0ts s As& AX 100,000,000 «1A! 100,000
= 30,000
= 70,000
A B ek 2t 5 49,000 472,000 A 423,000
ABEAI AU ANS L WNAESHI} 49,000 0 49,000
401 AlEHIZL £ 0HY| 49,000 0 49,000
01 Al&H| 49,000 0 49,000
ooqzidtll FAF WAAESEHI 249
7,000,000 *7JH 2 49,000
HEAEE 15,560 25,160 A 9,600
SEEAMNEIE M 2 15,560 25,160 A 9,600
S8EAEIE SN 15,560 25,160 A 9,600
201 et | 11,560 20,460 A 8,900
01 AFR 2t 2| bl 8,800 17,700 A 8,900
O Yttf==24| 6,400
OSAE AIREE & XA 289
200,000& x12& 2,400
OEAME QMR S S22 (82, 22
2l IAH) 1,000,000 43| 4,000
OS+42 U SEAE AAAE WY
100, 000& *43] 400
OSEAMNE ASE(ZAIS, WIAHI)
1,000, 000& *23] 2,000
02 Z2=2=24%4| 2,760 2,760 0
03322 % HA 600
OSANIELUNY E8= 600,000 =1CH 600
O XH&k A ghHy| 2,160
OSANIEEL2IE S| 180,000& »12& 2,160
202 o4 H| 3,500 3,500 0
01 2L I 3,500 3,500 0
OSAE XH(ss)cts =80l
10,0002 x2&H 100 2,000
OANZWA B =& 2020 d|
50,0008 2 15 1,500
305 HHA2S 500 500 0
01 & =2S 500 500 0
O&FEINRSHIHE alYlHa 50,000& *1024 500
ofd HHl 3,931,880 3,404,300 527,580




S QHETH LD

g otd FHl

Chel: THaH ol 2tel (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 370,000
= 250,000
= 3,311,880
THoh ol & 2tel 3,931,880 3,404,300 527,580
= 370,000
< 250,000
s 3,311,880
ACHEFHIAIY (HEH) (HEALY) 1,504,680 1,312,000 192,680
401 Al HI & 28I 1,504,680 1,312,000 192,680
01 A& HI 1,498,600 1,303,400 195,200
O&8 Aot FJHIAMG(HE)
198,600, 000& 14 198,600
OaH Aot FHIAMG(HE)
1,300,000, 000& 14 1,300,000
03 Al 2 0HHI 6,080 8,600 A2,520
O&8 AGHd FHAY 1,400, 0002 14 1,400
Ot Aotd FHIAY 4,680,000& =14 4,680
ot & Ul AL 1,215,500 1,170,000 45,500
< 20,000
s 1,195,500
401 AIEHIZ 201 8I 1,215,500 1,170,000 45,500
< 20,000
i 1,195,500
01 A& HI 1,210,300 1,167,200 43,100
OASHARXEFAZ 10,000,000 *209H £~ 200,000
OXN LSS E At 10,000,000 *200H 2 200,000
OX&el ot&FH ¥ AAXH SA(FUE)
25,500,000& » 14! 25,500
OotdEd L == HA 397,200,000 14! 397,200
od2dH 2el i3 HuAY
198,600, 000& 14 198,600
od2dH sgel S+3" HHAY
149,000, 000& 14! 149,000
O=sH HMAGHA HUlALY
40,000,000 =104 2 40,000
< 20,000
= 20,000
03 AIE 2 0HHI 5,200 2,800 2,400
OStdESL & ==2HA 2,800,000& »14 2,800
ogdd 22¢e =& HUAZ
1,400,000 =14 1,400
og2dd =2del =+3% HUAZ
1,000, 000& 14 1,000
StE R X 22l At 260,300 227,300 33,000
101 1A dl 77,800 46,800 31,000




S QHETH LD

g otd FHl

S THalolg 2tel (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
04 JIZHHZ2XREES 77,800 46,800 31,000
OXEdtd JI8H 2
3,940,000 1001 =™ 39,400
OA5t& JIEH 12 3,000,000 *100SH 30,000
Ootd =22kt 22 200, 000& *42JH 2~ 8,400
201 £B-2dH| 72,000 70,000 2,000
01 At 22l 72,000 70,000 2,000
ogxz 72,000
Octd =& &d P2
600,000& x 12 x10JH E S 72,000
202 o4dl 2,500 2,500 0
01 = LH o4 1l 2,500 2,500 0
Ootd & BRE=A 22 Kbl
50,0003 x5 x10 2,500
401 Al B2 28I 108,000 108,000 0
01 A& Bl 108,000 108,000 0
OSt&EAN&EE B2 & H
9,000,000 *120H 2 108,000
Ngotd RAL ALY 540,000 310,000 230,000
< 230,000
s 310,000
401 Al I 28I 540,000 310,000 230,000
< 230,000
s 310,000
01 A& HI 537,200 307,768 229,432
OMANRIESAY 198,600,000 * 14! 198,600
< 100,000
[ia 98,600
Oot=&Hl L 2elAtY 198,600, 000& 14 198,600
< 60,000
s 138,600
OEXME FHUlAY 140,000, 0002 14 140,000
< 70,000
[ia 70,000
03 Al =2 THHI 2,800 2,232 568
ONANRKES=AL 1,400, 000& * 14 1,400
OStEFHl & ZelAtY 1,400, 0002 *14] 1,400
22 4UZ) Bx=AE g2l 370,000 345,000 25,000
= 370,000
101 14l 136,735 136,735 0
= 136,735
4 DIt ZE2XREES 136,735 136,735 0
O®XZel o2 71,720
OJles 68,7203 x4 x250 68,720




2N
X ZH -
L= B

el

oF & TH
ot& FHl
THoHone 22l

S B G(SA) - NRANY - BES il 2
= 68,720
O= &l 3,000 *4H %2502 3,000
= 3,000
ooz28 Ry 22,995
OJlgs 60,000 »1H »365 21,900
= 21,900
O= &l 3,000 x1H %3652 1,095
= 1,095
OF5=+d 68,7203 x4 X »52= 14,294
= 14,294
OHXt=¢ 68,7203 x4H 12 3,299
= 3,299
c4liEd = 95,340,000 «12% 11,441
= 11,441
o=l 150,000& »4H 23] 1,200
= 1,200
O & F Il 200,000& x4 H 23] 1,600
= 1,600
OJIZtH 22X &2z
55,0003 30 2 «2H 6,600
= 6,600
OM= 3 22 68,7203 x5H 102 3,436
= 3,436
O&E=x= .34 MIA A8 =S|
3,000& x5H x10 160
= 150
201 2et24d] 35,000 32,000 3,000
= 35,000
02 =24l 35,000 32,000 3,000
0z22= % HA 20,000,000 =14l 20,000
= 20,000
OXERA & AIZFHI KX
15,000,000 * 14! 15,000
= 15,000
401 Al HIZ 201 Y] 198,265 176,265 22,000
= 198,265
01 A& HI 198,265 176,265 22,000
OAE=E & =79 X2l
198,265,000& 14 198,265
= 198,265
2240 2Z) E=Ad A2l (RHA) 41,400 40,000 1,400
201 £B-2%H| 23,400 22,000 1,400
01 AL 22| 23,400 22,000 1,400
OBt~ 12,000
Osdel QLEWHEE FZAME 452
3,000& *2,0000H 6,000
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2N

oF & TH

M ofd FHHl
S THalolg 2tel (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OsZel 2LEHTH 22234l
6,000,000 » 14! 6,000
o2I+E 11,400
Os2e LEHLE d=2Y|
60,000& 190 11,400
206 = Hl 5,000 5,000 0
01 M2 4l 5,000 5,000 0
OAZE & E=s2EH F 5,000,000 *14 5,000
401 AIEHI L 2CHEI 13,000 13,000 0
01 A& Bl 13,000 13,000 0
OAN&Es & =79 |2l
13,000, 000& 14 13,000
£ gL =8 FHul 4,400 4,400 0
2 4,400
2(4tH) 2el 4,400 4,400 0
2 4,400
LGEA(HANE) FHIS AL 4,400 4,400 0
2 4,400
401 Al HIZ 201 8] 4,400 4,400 0
2 4,400
01 A& HI 4,400 4,400 0
OgdAFTHIA XA 4,400,000& * 14 4,400
2 4,400
SOAAAE BYH L3t 2,914,791 2,281,159 633,632
MAIAEZ S 2,914,791 2,281,159 633,632
SN L2d 436,960 454,560 A 17,600
201 Let2d] 433,960 452,760 A 18,800
02 2324l 433,960 452,760 218,800
oz22= & HMA 433,960
O&~zZ2t S&Y sl848  3,500,000& =122 42,000
OZ-F£I|2 U - HALLD SBYS M
=3 160,000, 0002 14! 160,000
O0lSEHAMIFHEHI AEZ
90,0003 *2CH*12& 2,160
Oolssd & 150,000 ~4CH+ 123 7,200
OS2 XU AIXI(SMS) MElAOIEZ
2,000,000& x13| & +12& 24,000
OSHASRA QB RH ASL 0122
50,000& 103 & =128 6,000
O=&d ¢ A=) |2 8% Letdstg
12,000,000& 128 144,000
O3NS & LBt RY AER
700,000& 123 8,400




AN ATt
o SAAAY ZMS 2
el EAAAHSY (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OR4dgs 0lgx 10,000& +70CH =12 8,400
OQHEUES 24 0182
500,000& 23] & 122 12,000
O&AZ HEZE ZEE S3HEE MHIA
gz 1,650,000& »12& 19,800
202 oddl 3,000 1,800 1,200
01 SLHOIYI 3,000 1,800 1,200
OsSHYR=T Ol 50,0003 x5 12 3,000
FESAAAE 2922 166,606 122,711 43,895
201 Let24d] 104,566 101,711 2,855
01 At 22l 3,600 3,600 0
OB+t 3,600
OsSdE SXl S MRE E3H
300,000& »12& 3,600
02 2322l 100,966 98, 111 2,855
O A& ZHIS X 100,966
OEU &3tald &2 w22/l
500,000 » 14 500
Olpnell ¥ MstI| s 2eldl
23,000,000 =14l 23,000
OFUW L&sEX SN2l
95,177,000 *8% 7,615
OF&s o &l s 2eldl 83,122,300 8% 6,650
Osdaa 3L S22
16,196, 000& *8% 1,296
Osda g2gs)l szl
2,851,000& » 14! 2,851
O#ZHMS RN (ZHE)EH FX22lH
12,870, 000& *8% 1,030
O X HA 222l 33,270,000 *8% 2,662
OIPS = Al&eldl 37,600,000 =8% 3,008
OlIPZelAIAE KXl2teldl 27,500,000 8% 2,200
Ogs=st&Ed KXl 45,100,000 *8% 3,608
OUES3a |A&2ldl 12,000, 000& 14! 12,000
O=loga HESEX =22l
24,000,000 » 14! 24,000
ORH&z/9 AIAH JX 22|
61,822,000 *8% 4,946
Os &4 UPS =Xl 22l 50,000,000 *8% 4,000
OFLSMEL UPS |22l
20,000,000 =8% 1,600
308 XtXIEHHSOIA 47,040 0 47,040
07 IXNHHM UL = 47,040 0 47,040
OsHEZTLEL DESIAY RES
3,360,000 =144 0t = 47,040
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2N
X ZH -
L= B

el

OF & Tt It
SAAAY B L
SuNrEeY

SAH-EB .S (3H) - HEAY - BE2 il HDS2
405 XHoHF SHI 15,000 21,000 A 6,000
01 Mt =S FSHI 15,000 21,000 A 6,000
OQEUNAESIII(IPT) 2L 300,000& *50CH 15,000
CCTV &x & 29 639,991 436,204 203,787
201 et A | 302,000 260,000 42,000
02 =294l 302,000 260,000 42,000
O A& &H| KX Hl| 302,000
OCCTV ¥ 2HHEH SERIES
290,000,000& * 14 290,000
OCCTVS &2 M & El UPS BHEICI A
400,000& *30IH 12,000
202 04| 3,600 3,600 0
01 2LH O HI 3,600 3,600 0
OCCTV & & HOMXMel XN& o]
20,000 *3H x60! 3,600
401 AIEHI L 20| 334,391 172,604 161,787
01 Al& bl 332,000 168,000 164,000
oSy IAFEHII &X
14,000, 000& *x13JH 2~ 182,000
OADIEANE S8 EHE 2=
150,000, 000& 14! 150,000
03 Al 201 Y] 2,391 1,210 1,181
oSy IAFEHII &X
182,000, 000& *0.72% 1,311
OADIEANE S8 EHE 2=
150,000, 000& *0.72% 1,080
CCTVESE2NHEH 29 483,344 374,040 109,304
201 LEt2AYH| 382,344 374,040 8,304
01 AFR2t2l bl 25,200 25,200 0
oOgst+2H| 25,200
OSE2HEH 2 +2H| 500,000& x12& 6,000
OZHS/W etoldlA 2 240 ,000& *80IH 19,200
02 352494l 357,144 348,840 8,304
oO332=2 2 HA 357,144
OCCTV d83lda 100,000& *2583] &« 12& 309,600
OCCTV M2 12,000 #3010 A~ «12& 43,344
OAGLEAE SH3dds 350,000& = 12& 4,200
405 XtabF SHI 101,000 0 101,000
01 AL 2 S F SHI 101,000 0 101,000
OCCTVE &2 MAE AECIXN S&
51,000,000 * 14! 51,000




AN ATt
B SMAIAH ZE 23
ool EMAAHSH CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OCCTVEE 2 HHEH EotAIAY NES 25
50,000,000& =14l 50,000
CCIVELIHE =9 926,000 880,000 46,000
307 gl2tol & 926,000 880,000 46,000
05 BIZHRIE 3 926,000 880,000 46,000
OCCTV 2tH 2UEHEZE 9 926,000,000 *14) 926,000
SEREYS AIAE &X 246,000 0 246,000
201 24l 245,000 0 245,000
02 =224l 245,000 0 245,000
O A& Z YIS XYl 245,000
Onrsgs ANERXZaL (HE, ATIH S)
220,000,000 » 14 220,000
OMHRLEYS S22t
25,000,000 =14l 25,000
202 odl 1,000 0 1,000
01 2Ly01 bl 1,000 0 1,000
OltSELSAAE B8 & Foidel XNE ol
20,000 »2H »252 1,000
33 2A0/I0ol Xl 2 15,890 13,644 2,246
201 L2l 11,340 9,660 1,680
02 222 11,340 9,660 1,680
O2ZX 3324000l &=z
35,0003 #2735 & *12& 11,340
308 XXM SOIA 4,550 3,984 566
07 IXNSHH AR S = 4,550 3,984 566
OHA 2320/It0l 285 RE=
4,549,690& * 14 4,550
HRES(HMTH D) 200,000 200,000 0
WHEHHX = 200,000 200,000 0
WEHHX S (M 22013) 200,000 200,000 0
702 013HES 200,000 200,000 0
(O RIE=RSE-= 200,000 200,000 0
omMt2eII=s dE 200,000, 000& 200,000
2L (LA TH D) 80,440 68,440 12,000
Jl= &l 80,440 68,440 12,000
Jl=dl 80,440 68,440 12,000
201 £B-2dH| 38,800 38,800 0
01 At 22l 38,800 38,800 0
O 2 Et==EH| 20,400

_20_




A QA Y
HH: HH2ILH(SETHHL)
2

o
e Jl=3l (Sl & &)

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OS2I EEH| 1,700,000 x12& 20,400
O =&l 8,000 23 100 18,400
202 o4 | 24,840 24,840 0
01 2L I 24,840 24,840 0
(@fe:1s]] 90,000& x23% x12& 24,840
203 € R =& 4,800 4,800 0
04 EASHEIRFAH| 4,800 4,800 0
OFRMNSI YR 400,000 x12& 4,800
405 XH&HF S HI 12,000 0 12,000
01 XA E B F S| 12,000 0 12,000
OO 2= A 2
11,000,000 =1 CH 11,000
OCHXE ML oSNNS el
1,000, 000& = 14! 1,000




